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SECTION A   

1. Each Question will carry 5 Marks  
2. Instruction: Complete the statement / Select the correct answer(s)  

  

 

S. No.  Question  CO  

Q 1  What is difference between TCP and UDP? 
CO2 

Q2  Forward and Backward error Correcting codes-Differentiate 
CO4 

Q3  What is size of windows at both sides in Go Back N? 

CO5 

Q4  Why Nequist theorem is used? CO3 

Q5  Why Sub-netting is required? CO5 

Q6   Define computer networks? Discuss various types of networks topologies in computer 

network CO1 

SECTION B    

1. Each question will carry 10 marks  

2. Instruction: Write short / brief notes  

 

      

Q 7   Data 10101110011010, need to be sent from sender A to sender B from a network While 

looking at this data, you need to answer following: 

if data sent and received are not same, consider error is generated at bit position 5th i.e. now 

data received is 10101110001010. Then detect and correct error using hamming codes 

CO2 

Q 8  Differentiate between TCP and OSI model? What are PDUs(Protocol data Units) while 

transferring data from one node to another at every layer in TCP Model. 
CO1 

Q 9  A pure ALOHA network transmits 200-bit frames on a shared channel of 200 kbps. What is 

the throughput if the system (all stations together) produces1000 frames per second . 
CO3 

Q 10  Draw a format of IP datagram and elaborate its header format. 
CO4 



Q 11  Write short notes on HTTP, DNS, Telnet, and  DHCP. 
CO5  

Section C  
1. Each Question carries 20 Marks.  
2. Instruction: Write long answer.  

 

Q12  

 
OR 

An administrator have 192.168.1.0/24 network. The administrator has three different 

departments with different number of hosts. Sales department has 100 computers, Purchase 

department has 50 computers, Accounts has 25 computers and Management has 5 

computers. Using CIDR, create subnets and give address ranges to all subnets with their 

network addresses. 
 

CO3 

  

  

  


